“+—+

YR

A

DI

WEF—
oo E F
3
=
g
9%&
fE BB B
s B
%

L BT ’
1

A B=RINIS0BFiciwT =

(VT )VR)

LF

D RBBT ZRBE

D RWRT ZRBE AREEEZER
D RIFRERL

D KRR AVOvTRR-Y
D228 7A318 (1)

22 8RB 18 (B)
228 8H 7B (D)

DR 22F 8HA8H (H)

M LVNE G V/NES iy G el

AR=

(O12BRBND™)



BF

ZF

25
HEB
=
=

255
B
={u
=

LRTZARXE (VT ILR)

R
FRER
Bl =
EHMR

Bk &
BAREE
KimEif
FRILREAC

BAET=X
JAXATRIK
JAC

HIL K& H

NJTC
mé&m
2VITC
e SV1 N



© 0O N oo o b~ W N =

—_
—_

e

oS

3
2 Tt

)

>t B R

o5—Et— (8 B

ﬁﬂﬁ!—%?‘ 2T7J7JE§J_L5OHEGBM_A Rﬁ/ﬁ\ %? Kﬁ
B B & @A ):_iﬁ_
bye ( - ) 11 Ih R
BE DR BRFFZAM O——m 4y oz |
2 R B JAC )
AOE X BUER )—p gy 19—
il = ( JAC ) 12 Eﬁ‘
B A X ININFTZX )%
OB Fr v ) - ol
OB R RARERD ):l_ﬁf_ 62
bye ( — ) %( &
H 1B ( B&BIE )j_%._f
B B BEATC O polt 3t
B & — BitiH )E_k&?}_ o4
*H B2 B ( q7EF7ZX D I
bye ( — ) = 61
5 % EHETC — T
XK K —( IITC )
bye ( _ )}
B B = BILAHD D N
N A C FEARHES O
g @ 2z« BIiIER )
B M — BB BIiIEF )
bye ( — )
Z B EF ( HCE )
K T 5 ( IITC )
M B —  BiIZIRHFD
H K 8B ( #7EF7ZX D
Z — B ( T PRlE )
E & #  HiZK&#D D
B O — ( BiZICS )
bye ( — )
B £ 2 ( JAXATE O
S_Fifﬁj@, \ TZ]DEEJ_LSODEDBILA ZK/_E\ g? Kﬁ
R ge ( NJTC )
bye ( — )
B 8 X C NIFZR O— o A
o BARE ) rel 8 s
B B fc ( VUDTC ) - o4
bye ( — ) o
bye ( — ) ~F5
== C INIFZ .
B e mém Flo—Sri— @ B
F B FC NJTC >E_ﬁ&i_6' o
bye ( — ) , o4
& & ¥ ( 2JYYTC >:|_'<_%_ o
w 2 K Rybkasry O =1 62
;L HNZC RTIUIDT D |
bye ( — )T __mes
# R FC =EHBBTC H—



RIPET — RABARBNISOFFEET ZAKRE (Y VTILR)

7B318 M
#A8lE 3F—-AL=A—-C. B—C. A—B
1 K % 9574 A C fs Bk B sz
AlF & B A KTC - 7| 0-2 3
Bl H & 2 JAXATRIR 6 — -1 2-0 1
ClE B #* 17 R4 7 — 1-1 2
2 K % 9574 A C R Bk B 452
Al B X = R4 — 6 1-1 2
BIF W iE A RPS 4 — — 6| 0-2 3
Cl B & & A 6 — 2-0 1
3 K % 9574 A C fs Bk B sz
A |t B i F 5B INY=FTC — 6| 0-2 3
Bl # #* EXBETC 6 — — 4| 2-0 1
ClE & #& <t EE=hvES 6 — 1-1 2
K % 9574 A C R Bk B sz
AlE & [ 2 BiLE#H —6(1] 2-0 1
B(E # # =& JAC 0 — — 6| 0-2 3
Clg B = IKFEH T 6(1) — 1-1 2
5 K % 9574 A C R Bk B sz
Al Il & = RR-HALFTC — NS
Bl E B X *v/v - — NS
C|XK # & X BILER - W.0 1
6 K % 9574 A C R Bk B sz
AR NI & TPIRIE — 6 1-1 2
B |k & 8 KTC 2 — — 6| 0-2 3
C|# # & # BrET=X 6 — 2-0 1
7 K % 9574 A C R Bk B sz
Al R B E=HFETC - NS
BI[® & X — B®IITC - - 5 1-0 1
cC|lZZ B E EESI= VA - 0-1 2




RIPET — RABARBNISOFFGET ZAARE (Y VTILR)

7B318 M

#A8lE 3F—-AL=A—-C. B—C. A—B

8 K % 9574 f B B sz
AlE H 2 # [REATTC 0-2 3

B /M # & 3h BEARE 1-1 2

C |t 18 & — A3IICS 2-0 1

9 K % 9574 R B B 452
A B # X IMNIT=R 2-0 1

B|E i # M [EF hEARm 1-1 2

CIB # * & A 0-2 3

10 K £ 9574 fg B B sz
AlX & 1R R JAC 1-0 1

B[|K & & BFT=XE 0-1 2

ClE ® =& KTC NS

11 K % 9574 i1 B sz
Alfe 5l B — BAZE 1-1 2

BIF W ¥ (& BAZE 0-2 3

C|lH&EM—BH AIIE#R 2-0 1

12 K % 9574 fg B B sz
AT B Bt *v/v 1-0 1

Bl& # Al 2 BEAMR NS

cC|f/ HJk & #®JITC 0-1 2

13 K % 9574 fg B B sz
AlF & B & N EE S 2-0 1

B [# K M X REAITC 1-1 2

C|XK % IE X IMNINT=R 0-2 3

14 K % 9574 fg B IE sz
AR £ — R BILKRHH 1-1 2

Bl@ & — B TPIKIE 2-0 1

C|# Il }1 & RPS 0-2 3




RIPET — RABARBNISOFFEET ZAKRE (Y VTILR)

7B318 M

#A8lE 3F—-AL=A—-C. B—C. A—B

15 K % 9574 A R Bk B sz
A (BT Il # & Birtd NS

BIE ¥ ¥ =X BILK#HH - 8 1-0 1

c|lE B & % *v/v - 0-1 2

16 K £ 9574 A R Bk B sz
AR B # & RPS 0-1 2

B[XK #& &5 — BILKRHH -5 1-0 1

Cli W B — RI5IRIT - NS

17 K £ 9574 A fs Bk B sz
Alx 2 2 8| mrrozm Q- 6| 0-2 3

B|AM H # — AxtiE - 2 6 2-0 1

C |/ ith 8 X BRBEIR —(R%T 1-1 2

18 K % 9574 A R Bk B sz
AllE H R A HILKRHH 5 1-1 2

B | & E & BLiFF — 6 5 0-2 3

Cl# X % = w®ITC -5 2-0 1

19 K % 9574 A R Bk B sz
AL E F #& HILKRHH 6 2-0 1

B E B A IMNITF=R — 6 6 1-1 2

Cl|#H IR B & K[FaA+)LscC — 6 0-2 3

20 K % 9574 A fs Bk B sz
Al ZE B IMNITF=R 0 0-2 3

B[ B — & FRKPHBE -0 1 1-1 2

C|IE W = JAC -0 2-0 1

21 K % 9574 A R Bk IE sz
AlE B & A&AIR 6 2-0 1

BI# O % A RIN=G) 5 — 6 0 0-2 3

C | & BFT=REB — 6 1-1 2




RIPET — RABARBNISOFFEET ZAKRE (Y VTILR)

7TH318 %W

#A8lE 3F—-AL=A—-C. B—C. A—B

22 K % 9574 fs Bk B sz
Al # & & HILE#R 6 6| 0-2 3

BI/MNEBETIK BFT=XE 6 1 2-0 1

Clik H & & i 6 6 1-1 2

23 K £ 9574 R Bk B sz
AlE B E B HCE 6 — | 11 2

BI[# # K #f BrET=X 6 5| 2-0 1

C|E W % | 7UHTC - 7 0-2 3

24 K % 9574 R Bk g5z
AlF dH F — [REAITC NS

BIFF ®& & ARATC 0 1-0 1

C [/ & #4 Bt 8h EBRIT 8 0-1 2

25 K £ 9574 fs Bk B sz
alE & #|  mmxesma — or -0 i

BlE = & HIBIRIT o - 0-1 2

o} — _

26 K £ 9574 f Bk E sz
AllE H & & EE=RvES 8 0-1 2

B FE B = HCE 8 1-0 1

c — _




WINE T Z RBRENISOFFRET ZAAA (Y YTILR)
7A318 %M
A8IE  3F—-ALA=A—C. B—C. A—B

F1 K & D574 A B C f B g iz
A % #& = IMNIT=R — 6|6 — 2 1-1 2
B [ K& E m&m — 6 — 1 2-0 1
C [BWUBFF =) e % — — 6 0-2 3
F2 K & 9574 A B C f R g iz
A IKEBEFF JYTC — 36 —0]| 2-0 1
B | MK BAZE - 6 — 1 1-1 2
C [HHEHI M TPIRIE — — 6 0-2 3
F3 K & 9574 A B C f B g iz
A [Xi5E K PAZAL® — 0|6 — 1 2-0 1
B | ILXRK 21 e % — 6 — 1 1-1 2
C | KH#HEF BILER — — 6 0-2 3
F4 K & 9574 A B c f B g iz
A |#HIEF IMNITF=R - - NS
B |88 &k & NJTC - 8 — 4 1-0 1
C |FIERAMZ ATV - — 8 0-1 2
F5 K & 9574 A B C f B g iz
A |XRAEF I—XTA - - NS
B ¥ Ex MITZ=R - 8 — 4 1-0 1
C [WEIEF NJTC — — 8 0-1 2
F6 K & 9574 A B C 8L g iz
A |EFIF EBHETC - - W.0 1
B |M&SEHF m&m - — NS
c _ _ _ _




